
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

L

M

B

C

D

E

F

G

H

J

K

L

M

A

CRITICAL CHARACTERISTICS
KEY CHARATERISTICS
INSPECTION
MUST COMPLY TO ROHS DIRECTIVE 2011/65/EU

1 OF 4P408-F1-BC-COOLING

CONFIDENTIAL: PROPERTY OF DANFOSS A/S NORDBORG, DENMARK.  NOT TO BE HANDED OVER TO BE 
COPIED OR BE USED BY A THIRD PARTY.  TWO OR THREE DIMENSIONAL REPRODUCTION OF CONTENTS 
TO BE AUTHORIZED BY DANFOSS A/S.

SHEETMODEL
003177R0039

REVDRAWING NUMBER

DRW,REF,BACK CHNL COOLING,F1-F2

CHECKED

08/09/07BKDESIGNED

07/14/15DHCHANGED

NOT VALID WITHOUT FROZEN DATE IN ID STAMP

DESCRIPTION

FINISH
A10.125

UNLESS OTHERWISE SPECIFIED
INTERPRET DIM. & TOL. PER ASME Y14.5M-1994

ALL DIMENSIONS ARE IN MILLIMETERS
.X�#�1.0  .XX�#�0.50  �a��#�1.0

MATERIALSIZESCALETHIRD ANGLE PROJECTION

NOTES:
1. FOR FASTENER TORQUES, REFER TO 175R5600 CLASS A. UNLESS OTHERWISE SPECIFIED.
 

STEPS:
 
1. REMOVE BOTH CABINET BACK PLATE
 
2. REMOVE COVER PLATE A,B,C & D
 
3. INSTALLED COVER PLATE REMOVED IN STEP 2
   TO BLOCK TOP AND BOTTOM OPENING USING THE 
   SCREW REMOVED DURING STEP 2. GASKET REQUIRED
   ARE ALREADY PROVIDED ON BOTH TOP AND BOTTOM.
   (NOTE: TO MOUNT   RECTIFIER BOTTOM PLATE 6X  M5 NUT
    WOULD BE NEEDED)
 
4. MAKE CUTOUT ON CABINET BACKPLATE AS SHOWN ON SHEET 2.
 
5. RE-INSTALL BOTH BACK PLATE AND ATTACH DUCTS THROUGH
   HOLES CUT INTO BACKPLATE USING LONGER M5 SCREWS.

6X M5 NUT

8X M5 SCREW

8X M5 SCREW

8X M5 SCREW

RECTIFIER CABINET
BACK PLATE

INVERTER CABINET
BACK PLATE

COVERT PLATE - A
(RECTIFIER CABINET
EXHAUST DUCT COVER)

COVER PLATE - B
(INVERTER CABINET
EXHAUST DUCT COVER)

COVER PLATE - C
(RECTIFIER CABINET
INTAKE DUCT COVER)

COVER PLATE - D
(INVERTER CABINET
INTAKE DUCT COVER)



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

L

M

B

C

D

E

F

G

H

J

K

L

M

A

8X �n�7.0
0.28[ ]

6X �n�7.0
0.28[ ]

8X �n�7.0
0.28[ ]

6X �n�7.0
0.28[ ]

108.7
4.28[ ]

168.9
6.65[ ]

88.5
3.48[ ]

275.4
10.84[ ]

331.4
13.05[ ]

590.9
23.27[ ]

5.7
0.22[ ]

14.5
0.57[ ]

156.3
6.16[ ]

615.0
24.21[ ]

108.7
4.28[ ]

4.2
0.17[ ]

139.0
5.47[ ]

100.7
3.96[ ]

6.7
0.27[ ]

207.3
8.16[ ]

194.3
7.65[ ]

12.2
0.48[ ]

233.6
9.20[ ]

109.8
4.32[ ]

240.8
9.48[ ]

42.2
1.66[ ]

127.5
5.02[ ]

95.5
3.76[ ]

8.0
0.31[ ]

101.4
3.99[ ]

202.7
7.98[ ]

210.7
8.30[ ]

278.2
10.95[ ]

4.5
0.18[ ]

119.5
4.70[ ]149.0

5.87[ ]

14.5
0.57[ ]

22.0
0.87[ ]

11.0
0.43[ ]

150.7
5.93[ ] 8.0

0.32[ ]

153.6
6.05[ ]

161.6
6.36[ ]

111.7
4.40[ ]

36.1
1.42[ ]

219.0
8.62[ ]

322.0
12.68[ ]

505.0
19.88[ ]

547.5
21.55[ ]

2 OF 4P408-F1-BC-COOLING
SHEETMODEL

003177R0039
REVDRAWING NUMBER

SEE DETAIL  A

SEE DETAIL  B

800MM WIDE
INVERTER CABINET 600 MM WIDE

RECTIFIER CABINET

DETAIL  A
SCALE  0.250

DETAIL  B
SCALE  0.250



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

L

M

B

C

D

E

F

G

H

J

K

L

M

A

3 OF 4P408-F2-BC-COOLING
SHEETMODEL

003177R0039
REVDRAWING NUMBER

6X M5 NUT

12X M5 SCREW

8X M5 SCREW

12X M5 SCREW

RECTIFIER CABINET
BACK PLATE

INVERTER CABINET
BACK PLATE

COVERT PLATE - A
(RECTIFIER CABINET
EXHAUST DUCT COVER)

COVER PLATE - B
(INVERTER CABINET
EXHAUST DUCT COVER)

COVER PLATE - C
(RECTIFIER CABINET
INTAKE DUCT COVER)

COVER PLATE - D
(INVERTER CABINET
INTAKE DUCT COVER)

STEPS:
 
1. REMOVE BOTH CABINET BACK PLATE
 
2. REMOVE COVER PLATE A,B,C & D
 
3. INSTALLED COVER PLATE REMOVED IN STEP 2
   TO BLOCK TOP AND BOTTOM OPENING USING THE 
   SCREW REMOVED DURING STEP 2. GASKET REQUIRED
   ARE ALREADY PROVIDED ON BOTH TOP AND BOTTOM.
   (NOTE: TO MOUNT   RECTIFIER BOTTOM PLATE 6X  M5 NUT
    WOULD BE NEEDED)
 
4. MAKE CUTOUT ON CABINET BACKPLATE AS SHOWN ON SHEET 4.
 
5. RE-INSTALL BOTH BACK PLATE AND ATTACH DUCTS THROUGH
   HOLES CUT INTO BACKPLATE USING LONGER M5 SCREWS.



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

L

M

B

C

D

E

F

G

H

J

K

L

M

A

97.2
3.8[ ]

1.4
0.05[ ]

295.4
11.63[ ]

363.0
14.29[ ]

659.5
25.97[ ]

727.1
28.63[ ]

975.0
38.39[ ]

994.0
39.14[ ]

108.7
4.28[ ]

14.5
0.57[ ]

156.3
6.16[ ]

169.0
6.65[ ]

12X �n�7.0
0.28[ ]

140.8
5.54[ ]

36.1
1.42[ ]

219.0
8.62[ ]

360.1
14.18[ ]

543.0
21.38[ ]

684.0
26.93[ ]

867.0
34.13[ ]

909.5
35.81[ ]

150.7
5.93[ ]

8.0
0.32[ ]

153.6
6.05[ ]

161.6
6.36[ ]

12X �n�7.0
0.28[ ]

4 OF 4P408-F2-BC-COOLING
SHEETMODEL

003177R0039
REVDRAWING NUMBER

SEE DETAIL  C

SEE DETAIL  D

DETAIL  C
SCALE  0.250

DETAIL  D
SCALE  0.250

SAME AS SHEET 2


	Sheet 1
	Views
	new_view_5


	Sheet 2
	Views
	new_view_1
	A
	B


	Sheet 3
	Views
	new_view_9


	Sheet 4
	Views
	new_view_10
	C
	D



		2015-08-19T09:39:36-0500
	Craig Netemeyer




